T? 120NN 2D ORX n? 120NN 2D 10X

13T NMT1

_ 1250
_ TN _

TN™N-N2n vl

MTUN 111X

S TN N-N2N van
o 0" 11T NN

Z N1TUN 110KX°2
T 20N 7210 2Wn| 5ime e : \
_ _ o S/ R'N1 ‘T 91| NI 1V™M9N 1IRN | ‘On
1-1 92N 48.2 19300 0.0024956 | 1nT %%ﬁ @m 1
99 570 0.1736431 | YU TPYNR 1R 2
” TN (TR
NN 167.8 19300 0.0086961 | 1T | a3 T ITIX |3
. q:.::u jSEv 12N XN MMNT D3R XN O'TOIN 1100 20T D119 D'WY1” — KR3N80 N1T M- 5 19300 0.00028614 ANT umwp%%uuwﬂm.“_mb 4
. N2IN N1 D'TNN DT w0 9°V — N9y — NO193N "21V-— 0711 7
. Aj__d._._..u jSEv N1193N NINT "N DNIX NWVYND NyPn 2NT 027173 0 NV — NIPnn 0°'21710- 31 970 0.0541278 ﬂc 2983 L=5000 S
. A_u n”J 33_5 0912 w119 "7 U1 9"’V — 0D'N3Y NWyY — 0217130 n11a— 51 19300 0.00264 1T _u_._.ﬂm.umu_A ._me__wm 6
402 172 722D 2pWn
1119072 |
\ 112N
T 20N (Y2130 2RWN| Hen o1 | Amim | wen 1wn | on
Y _u\\:\%_u 12N N1 MXT 12N 'NN1 07N D0 "XV 11N TWYT°— X3P 97 PUn 71N NTTN-
1502 19300 0.0778125 aNT nao | 7 LRT™I MY, N7 NMR)"IIMIE XN NNRT
NWY1 119X¥N PINMT N"2N 1100 20T TNIXR N8N — XRIA71I1N 11NN 197X —
;T 2564 1R 122D 2nUn :m . (27,072 NMY) 10T MYya0 V2R 13 NPXTT — RPN 71NN Nvao-
. (27,072 M) 1NT DNIX N'9XT 00 "XV 71 NV — NXIAPNN 7180 " T1-
1 00BN KRR : 010w KRBT (T, 2"1) NBY XN - M7 NVUT 9T — 11NN N19T "1V-

. N0 — "1NNN YTPNY NVT 97 — 0'T1N MV-
. VANN — "R BTPNT YT 97 — NYaon M-
0 500 1000 Am_ool..d

. . (N, T"9) 12NN NINTINT NN™IN PJ0Mm — NN WY — 0720 11IR—
L ITIN D ———
‘on| nagloow | 'on| n..p|oow _@

[125[n |© MM 500 = MK 1.2 0 A 2 3—=——n | 1:25].0.1 |




